SPARE PARTS LIST

MODEL NO. 9207SPB

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
002 911261-6 Trapézfeju csavar M5x40 911261 4
004 212005-0 Tugorgos csapagy 810 212005-0 1
005 961052-5 Seeger-gyuru S-12 961052-5 1
006 221312-0 Kupkerék 43 9207SPB 1
007 285805-1 Golybscsapagy-gyuru 22-34 9207 1
008 211106-1  Golyéscsapagy 6201LLB 211106-1 1
009 312795-6 Csapéagyhaz 9207SPB/SPC 1
010 911121-2 Trapézfeju csavar M4x14 911121 4
011 213301-9 Portémités 20 HP200/2010/N/9* 1
012  254002-0 Ek 3 92400B/9030/9503BH/HR3 1
013 325433-1 Tengely 9207SPB 1
014  224515-5 SANDING LOCK NUT 14-48 1
015 133324-0 Fogaskerékhaz, komplett, tugor 1
INC. 4
016 285816-6 Golydscsapagy-gyuru 19-33 9207 1
017 961055-9 Seeger-gyuru S-15 961055-9 1
018 211201-7 Golyéscsapagy 6002LLB 1
019 312722-3 Fogaskerékhaz-fedél 9207SPB 1
020 241080-9 FAN 68 1
021 512549-3 Forgérész 220V 9207SPB 1 220V
INC. 20,23,25
022 911295-9 Trapézfeju csavar M5x70 911295 2
023 681613-2 Szigetelo alatét 1125/HR1800/S 1
024  263014-2 Gumi csapszeg 4 263014-2 1
025 211033-2 Golyéscsapagy 608LB 211033-2 1
026 411263-7 Légterelo lap 9207SPB/SPC 1
027 528700-5 Allérész 220V 9207SPB 1 220V
028 156125-9 Motorhaz 9207SPB 1
INC. 24
029 181030-1 Szénkefe CB-100 (=CB-101, CB-1 1
030 643600-9 Szénkefetart6-sapka 6-10 64360 2
031 811870-0 NAME PLATE 9207SPB 1
032 953106-2 Csapszegecs 0-5 953106-2 2
033 651603-9 Kapcsolé SS106A-5 906, Uj 1
034 631011-0 DIODE S3V60ZM-H 1 220V/240V
035 651018-0 Kapcsolé HPAHR2-3S 1805B, 9609 1
036 911103-4 Trapézfeju csavar M4x6 911103- 2
037 911168-6 PAN HEAD SCREW M4X40 2
038 411262-9 FogantyUburkolat 9207SPB 1
039 911148-2 Trapézfeju csavar M4x25 911148 2
040 645253-0 Zajszuro kondenzator 645253-0* 1
041 911133-5 Trapézfeju csavar M4x18 911133 2
042 687001-1 Kéabel-fesziltségmentesito 6870 1
043 682502-4 Kabelvédo 8-85* 1
044 666066-6 POWER SUPPLY CORD 1.0-2-2.5 1 220V
400 743012-7 RUBBER PAD 170 1
401  794094-2 ABRASIVE DISC 180 #50 1
402  794176-0 WOOL BONNET 180 1
403  152492-0 GRIP 36 COMPLETE 1
404 782412-6 LOCK NUT WRENCH 28 1
1

405

781008-0

WRENCH 17




SERVICE DRAWING

MODEL NO. 9207SPB




